MATH 215
Practice

1. What must a transformation 7' from R™ to R" satisfy in order to be a linear transfor-
mation?

@T(UJ’(U’3 ST((L\ ‘tT(\l‘) Ser an u, v in Aomo-‘n O'C T
® TCC“) =Q T(,UL) Kor a\l\ Sc..\ols Coad all & A Aomo\'\h ca’CT

2. If T : R? — R® is a linear transformation, such that T'([1,0]) = [2,1,3] and T'([0,1]) =
[17 0, _2]7 find T([2> 3])
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3. Let T : R? — R3 be the linear transformation such that T ([ (1) ]) = | 4| and
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T ([ (1) ]) = [ 3 ] . Find the standard matrix representation of 7'
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